

Republic of the Philippines Department of Agriculture BUREAU OF SOILS AND WATER MANAGEMENT SRDC Building Elliptical Road corner Visayas Avenue, Diliman, Ouezon City 1101 customers.center@bswm.da.gov.ph Tel. no. (632) 8273-2474 local 3202

## **BSWM-BIDS AND AWARDS COMMITTEE** SUPPLEMENTAL BID BULLETIN NO. 1

CONTRACT: Supply and Delivery of Promotional, Training and IEC Materials for BSWM for CY 2025 - IB No. BSWM 2025-02-034

This Addendum is being issued in accordance with Section 22.5.2 of the IRR of RA 9184, to clarify and modify some provisions of the Bidding Document. THIS SHALL FORM AS AN INTEGRAL PART OF THE BID DOCUMENT. Likewise, the succeeding agreements and reminders were discussed during the Pre-Bid Conference held last February 13, 2025, at the BSWM Function Room and via Videoconferencing-Zoom.

#### **AMENDMENTS OF THE BIDDING DOCUMENT:**

ORIGINAL	AMENDED
Section I. Invitation to Bid	Section I. Invitation to Bid
1. The Bureau of Soils and Water Management (BSWM), through the General Appropriations Act (FY 2025 GAA) intends to apply the sum of	1. The Bureau of Soils and Water Management (BSWM), through the General Appropriations Act (FY 2025 GAA) intends to apply the sum of
Lot 1: Supply and Delivery of Various Promotional Items ABC: PhP8,548,050.00	Lot 1: Supply and Delivery of Various Promotional Items ABC: PhP 8,873,050.00
Lot 2: Supply and Delivery of Various Training Materials ABC: PhP 3,541,100.00	Lot 2: Supply and Delivery of Various Training Materials ABC: PhP 3,541,100.00
Lot 3: Supply and Delivery of Cropping Pattern Calendar for FY 2025 ABC: PhP 1,477,500.00	Lot 3: Supply and Delivery of Cropping Pattern Calendar for FY 2025 ABC: PhP 1,477,500.00
Section III. Bid Data Sheet, ITB. Clause 5.3	Section III. Bid Data Sheet, ITB. Clause 5.3
For this purpose, contracts similar to the Project shall be:	For this purpose, contracts similar to the Project shall be:
a. Contract on Supply and Delivery of Promotional Materials	a. Contract on Contract on Supply and Delivery of Promotional Materials, Printing Services, Customized Textile/Uniforms
b. completed within five years prior to the deadline for the submission and receipt of bids.	b. completed within five years prior to the deadline for the submission and receipt of bids.
Certificate of Satisfactory Performance from the submitted SLCC (to be verified during Post-Qualification)	Bidder shall submit Certificate of at least     Satisfactory Performance from the     submitted SLCC - to be submitted as part     of the Technical Proposal (to be verified     during Post-Qualification)



ORIGINAL	AMENDED
Section II. Instruction to Bidders	Section II. Instruction to Bidders
19.4 The Project shall be awarded as follows: One (1) Project that shall be awarded as one contract	19.4 The Project shall be awarded as follows: One Project having several items per lot, which shall be awarded as separate contracts per lot
Section VI. Schedule of Requirement	Section VI. Schedule of Requirement
<ul> <li>As stated in Section VII. Technical Specifications.</li> </ul>	Delivery of goods shall be completed within 30 CD upon approval of the final sample from the End User.
<ul> <li>Final sample (for approval of enduser) shall be provided within 30 calendar days after receipt of Notice to Proceed.</li> </ul>	
	Revised Section VII. Technical Specifications
	Note: Sample design/layout can be accessed through this link and QR Code.
	https://tinyurl.com/promo-bswm-034

#### **REMINDERS DURING THE PRE-BID CONFERENCE:**

#### **RA 9184 Section 30.1:**

Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

"Any lacking document can cause the submitted bid to be automatically rated failed."

#### GPPB Resolution No. 15-2021 dated October 14, 2021

For the purpose of updating the Certificate of Registration and Membership, all Class "A" eligibility documents mentioned in Section 8.5, supporting the veracity, authenticity and validity of the Certificate shall remain current and updated. The failure by the prospective bidder to update its Certificate with the current and updated Class "A" eligibility documents shall result in the automatic suspension of the validity of its Certificate until such time that all of the expired Class "A" eligibility documents has been updated.

Below are the acceptable forms of bid security that bidders may opt to use, which shall include
the Bid Securing Declaration. The amount of which shall not be less than the required
percentage of the ABC in accordance with the following schedule:

Form of Bid Security	Amount of Bid Security (Not less than the required Percentage of the ABC)
Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Two percent (2%)
Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Two percent (2%)
Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Five percent (5%)
Bid Securing Declaration (Signed and Notarized)	

**NOTE:** Bidders SHALL use ATTACHED template of Bid Securing Declaration.

# Other forms of Bid Securing Declaration will NOT BE ACCEPTED and SHALL BE RATED "FAILED".

Please note that your Bids and Bid Securities should be valid and firm for a period that shall not exceed one hundred twenty (120) calendar days after the date of the opening of bids.

• Net Financial Contracting Capacity (NFCC):

The computation of a prospective bidder's NFCC must be at least equal to the ABC to be bid or, for procurement by lot, at least equal to the sum of all the ABCs of lots to which it participated.

NFCC= Current assets minus current liabilities multiplied by 15 (constant factor) minus the value of all outstanding or uncompleted portions of on-going contracts, including awarded contract/s yet to be started, coinciding with the contract to be bid.

#### **Important Reminders:**

Supplier shall coordinate with the End-user and Property Management Unit for the final schedule of delivery.

To schedule the delivery, please click this link or scan the QR code:

https://sites.google.com/view/pmu-scheduleofdelivery/home



#### Sealing and Marking of Bid:

#### The bidders shall submit:

- ✓ One (1) ORIGINAL COPY.
- ✓ One (1) DUPLICATE COPY.
- ✓ One (1) PDF COPY in a USB to be placed inside the Duplicate Copy of Technical Proposal and Duplicate Copy of Financial Proposal.

#### NOTE:

- All photocopied documents must be stamped and signed "Certified True Copy".
- And all pages/documents must be duly signed by the authorized representative (both original and duplicate copies).

- For easy reference, all bidders are requested to provide dog-ear codes/ tabs in the presentation of their documents.
- One (1) bid proposal for each lot participated in, if applicable.

#### **Reminders:**

- Bidders responsibility to read, study, and review the Bidding Document and Bid Bulletin/s of the procurement project.
- Further clarification/s on the Bidding Document shall be in writing and must be submitted 10 days before the Opening of Bids.
- All bidders who wish to join the bidding shall download the attached document from PhilGEPS website to be included in the Document Request List (DRL).
- Bidders may download the updated Bidding Forms at GPPB Website (<a href="https://www.gppb.gov.ph/downloadables.php">https://www.gppb.gov.ph/downloadables.php</a> ).
- In case of withdrawal of submitted bid, a letter stating their intention to withdraw from the project should be submitted by the bidder not later than the scheduled deadline of submission and opening of bids.
- Bidders declared to have the Lowest/ Single Calculated Bid will be subject for Post-qualification.
- Bidder shall submit the additional requirements listed on the NOTICE as LCB/SCB within five (5) calendar days from receipt of Notice for Post qualification. Non-compliance can be grounds for post-disqualification.
- Winning Bidders declared to have the Lowest/Single Calculated and Responsive Bid shall submit its Performance Bond and Signed Contract Agreement within ten (10) calendar days from receipt of Notice of Award. Non-compliance can be grounds for forfeiture of award.
- Bidders shall comply **STRICTLY** with Section VI. Schedule of Requirement

  Note:

NO EXTENSION shall be accepted/ entertained except on meritorious grounds. Late delivery without approved extension request shall be liable for liquidation damages in accordance with Section 3.1 Annex D of RA 9184.

Letter of extension shall be received by the BAC Secretariat before the lapse of the original delivery requirement.

# Clause 4. Section II. Instruction to Bidders: Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

Interested Bidders may acquire the bidding documents until February 26, 2025, 3:00PM at the BSWM Procurement Management Section, 2<sup>nd</sup> Floor, SRDC Bldg. Visayas Ave., Diliman, Quezon City.

#### DEADLINE/SCHEDULE OF SUBMISSION AND OPENING OF BIDS:

The deadline of **submission of bid proposals** is on **February 27, 2025, 9:00AM**. Late submission shall not be accepted. **Opening of Bids** is on **February 27, 2025, 9:30AM** at BSWM Convention Hall and via videoconferencing.

For guidance and information of all concerned.

**DENISE A. SOLANO**BAC Chairperson

## **ANNEX A**

# **REVISED TECHNICAL SPECIFICATIONS**

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
PLAN NING	2025- 01-	GAD FUND	1	Promotional Items in Celebration of National Women's Month	pcs.	700	
	0120			Specifications: POLO-SHIRT Color: Purple " with various color based on the design attached (LOGO)" Fabrics: 60% Cotton 40% Polyester Feature: wrinkle and shrink resistant, 2 button placket, flat knit collar and cuffed sleeved, double needle stitch Sizes: Assorted sizes Print Type: Silk Screen Printing XS - 45 S - 101 M - 202 L - 180 XL - 105 2XL - 50 3XL - 13 4XL - 4  "IMPORTANT NOTE: * Design shall be finalized upon the release of PCW			
			2	Promotional Items for 18-Day Campaign to End Violence Against Women and Children (VAWC)	pcs.	700	
				Specifications: T-SHIRT (Round Neck) Color: Orange and White " with various color based on the design attached (LOGO)" Fabrics: 100 % Cotton Sizes: Assorted sizes Print Type: Silk Screen Printing			
				"IMPORTANT NOTE:  * Design shall be finalized upon the release of PCW			

ENDU	PR#	FUND SOURCE	Item	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE																				
SER HILLPE Z	2025- 01- 0129	RD- REGUL AR	<b>No.</b> 3	Polycanvas Bag Size: (LxWxH) 14"x4"x17" Color: White 1 Side Print Print: Full Sublimation	pcs.	85																					
			4	Dry Fit Polo Shirt Sizes: XS-10; S-10 pcs; M-30 pcs; L-25 pcs; XL-10 pcs Material: Dry fit	pcs.	85																					
				Delivery Requirement: BSWM Central Office, Diliman, Quezon City,																							
		RD- ORGAN IC - HILLPE Z	5	Personalized longsleeve Color: Light/Sky Blue or based on the design layout Material: Compatible with the printing method Printing method: Full Sublimation Sizes: XS-5 pc; S-10 pc, M-15 pc; L-15 pc; XL-10 pc; 2XL-5 pc	pcs.	60																					
				-						6	Personalized field hat with detachable neck and face cover Color: Emerald Green Material: Nylon Imprint method: Embroidery Size: 55-62 cm head circumference	pcs.	60														
																								Delivery Requirement: BSWM Central Office, Diliman, Quezon City			
		NSHP- VEGET ABLE - HILLPE Z	7	Personalized tote bag (with expandable katsa, box type, with velcro/magic tape) Color: White Material: Canvas Printing method: Sublimation Size: 34*43*10 cm	pcs.	100																					

ENDU	DD #	FUND	Item	DESCRIPTION	LINUT	OTV	CTATEMENT OF COMPLIANCE
SER	PR#	SOURCE	No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
			8	Personalized shirt Color: Teal/Based on the layout Material: Compatible with the printing method Printing method: Full Sublimation Sizes: XS-10; S-15 pcs; M-30 pcs; L-30 pcs; XL-10 pcs; 2XL-5	pcs.	100	
			9	Personalized field hat with detachable neck and face cover Color: Navy blue Material: Nylon Imprint method: Embroidery Size: 55-62 cm head circumference	pcs.	100	
				Delivery Requirement: BSWM Central Office, Diliman, Quezon City			
HIGHP EZ	2025- 01- 0131	LFP- NSHP - HIGHP EZ	10	Field Jacket Color: Dark Gray Materials: woven with fabrics, waterproof, windproof, hooded non removable, UV protection, quick drying, ultra light Printing Method: Heatpress Place of Delivery: NSWRRDC- Dalwangan, Malaybalay Bukidnon	pcs.	80	
ALME D	2025- 01- 0133	R 2025	11	Polo Shirt Body -premuim polydex, 180 gsm Collar-Cotton; Quality Sew and Printed: Sublimation	pcs.	90	
SCMD	2025- 01- 0132	RD- CORN	12	Jacket Embroidered logos and other prints Material: Polyester Sleeve Lenth: Long Sleeves Jacket Type: Baseball Jackets Style: Athletic, Street Style Sizes S - 15 M - 31 L - 32 XL - 15 please see attached design	pcs.	93	

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
		RD- REGUL AR	13	Tote Bag  Size: length-16 inch; width: 13.5 inch  Color: Black  Printing: Embroidered logo of BSWM  Fabric: Canvass	pcs.	150	
			14	Drifit Shirt Sage Green (near this shade - HEX Code: (#8ABD91); Sublimation Printing of logos and other prints  Sizes: Small - 10 Medium - 20 Large - 25 XL - 25 XXL - 20	pcs.	100	
		MANIL A BAY	15	Drifit Shirt Sublimation Printing of logos and other prints *color: Gray/ shade 400 (0xFFBDBDBD) Sizes: S-5 M-10 L-80 XL-20 XXL-5	pcs.	120	
			16	Drifit Polo Shirt Sublimation Printing of logos and other prints *color: Khaki (C3B091*) Pique fabric Sizes: S-10 M-30 L-100 XL-35 XXL-5	pcs.	180	
			17	Tote Bag Size: length-16 inch; width: 13.5 inch Color: Black Printing: Embroidered logo of BSWM and other logo	pcs.	35	

ENDU	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
SER		SOURCE	No.	Fabric: Canvass			
			18	Drifit Shirt Sublimation Printing of logos and other prints color: white Sizes S-10	pcs.	150	
				M-10 L-80 XL-40 XXL-10			
			19	Bush hat with embroidered BSWM Logo color: khaki	pcs.	150	
			20	Insulated Tumbler stainless steel internal compartment, 24 oz, black. with silicon boot, paracord handle, and manila bay decal logo white tumbler	pcs.	35	
LSD	2025-01-130	NSHP	21	Full Sublimation ABFS Long Sleeve Drifit Shirts Specifications: -Long sleeve -Round binder neck front -Polydex, 220 gsm -Fully sublimated, all colours and logos are dyed directly into the fabric to ensure durability and flexibility  Small - 1000 pcs Medium - 1500 pcs Large - 1500 pcs XL - 1000 pcs 2XL - 750 pcs 3XL - 750 pcs 4XL - 750 pcs	pcs.	8,000	

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
	2025- 01- 0127	RICE- ESSETS	22	BOT Meeting for National SWISA Federation Polo shirt Polyester (100%) short sleeve with buttons multi color blue and white * BSWM Logo and SWISA logo: Printed embroidered "XXL-2 XL-5 L-20 M-20 S-3" (see attached design for reference)	pcs.	50	
			23	Institutional Development Training For The Operation And Maintenance Of Small-Scale Irrigation Projects (SSIPs)-ESETs Polo shirt cotton fabric short sleeve with buttons multi color blue and white * BSWM Logo and SWISA logo: Printed screen print "XXL-74 XL-111 L-370 M-370 S-185	pcs.	1,110	
			24	Training on Soil Health Rehabilitation/ Balanced Fertilization Strategy polo shirt cotton fabric short sleeve multi color blue and white "XXL-80 XL-120 L-400 M-400 S-200" * BSWM Logo and SWISA logo: Printed screen print	pcs.	1,200	

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
SER		PSS- RICE	25	Regional and Provincial SWISA Meeting & Location Specific Cropping Pattern and Cropping Tool Canvas Tote Bag with BWM Logo Material: Canvas Textile Texture: Thick quality Dimension: 15 X 13 X 3 inch (H x W x L) With Zipper Print: Sublimation Please see attached design for reference  Training on the Operation, Maintenance, and Data Utilization of AWS Polo shirt cotton fabric short sleeve with buttons multi color blue and white * BSWM Logo and SWISA logo: Printed screen print "XXL-40 XL-60 L-100	pcs.	400	
				M-100 S-100" (see attached design for reference)			
		INS VARIO US	27	Institutional Development Training For The Operation And Maintenance Of Small-Scale Irrigation Projects (SSIPs ) polo shirt round neck short sleeve multi color black and apple green "XXL-24 XL-36 L-120 M-120 S-60" * BSWM Logo and SWISA logo: Printed screen print (see attached design for reference)	pcs.	360	
SWRR D	2025- 01- 0200	NSHP- BioSMS	28	polo shirt, 24 counts CVC pique (honeycomb cotton)	pc	170	

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
				White and brown combination (see attached design)			
				With embroidered logo at the upper left chest			
				30 pcs Small - 19 inches x 27 inches (+/- 0.5" on length and width tolerance) 60 pcs Medium - 20 inches x 28 inches (+/- 0.5" on length and width tolerance) 50 pcs Large - 21 inches x 29 inches (+/- 0.5" on length and width tolerance) 20 pcs XL - 22 inches x 30 inches (+/- 0.5" on length and width tolerance) 10 pcs XXL - 23 inches x 31 inches (+/- 0.5" on length and width tolerance)			
SWRR D	2025- 02-0292	SWRRD - Regular	29	T-Shirt for BSWM 74th Sportsfest Materials: Dri-fit, polyester; it is constructed blend of synthetic fiber Features: Wrinkle and shrink resistant; don't wick sweat antiodor and anti-microbial Sleeve style: Short sleeve Sizes: XS, S, M, L, XL, 2XL Color: White, Yellow Orange, Green, Pink, Blue, Purple Attached: Design/Layout	pcs	650	

### **LOT 2: SUPPLY AND DELIVERY OF VARIOUS TRAINING MATERIALS**

<b>ENDUS</b>	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
ER		SOURCE	No.				
SCMD	2025- 01- 0132	ESETS RICE - SCMD Watersh ed Manage ment	1	Notebook (customized)  Clear Plastic Hard Cover Spring Ring Bind Notebook A5 size, 80 leaves, 70gsm, waterproof cover, with printed pages	pcs.	150	
GSITD		ICT-STO- CURREN T	2	Customized Notebook softbound notebook No. of leaves: minimum of 40 Notebook cover: Cardboard, Glossy, White color with BSWM Logo	pcs.	155	

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
				Notebook paper quality: 70 gsm dimension: 148mm x 200mm			
			3	Customized Training Bag with BSWM Logo Size: at least15.6 inches that can carry long-size training and workshop modules and other training materials Length: at least 32 cm Width: at least 16 cm Height: at least 48 cm Color: gray/black Material: 200D Nylon	pcs.	140	
			4	Customize ID Lace Material: polyester Length: 32 inches Width: 3/4 inches	pcs.	140	
		INS VARIOUS	5	Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	705	
	2025-		5	Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm	pcs.	705	
WRMD			5	Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm	pcs.	705 3505	

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
		PSS-RICE	7	Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	400	
WRMD	2025- 01- 0124	LFP- SWIIP	8	Procurement of Training Supplies (Customized Notebooks) for the conduct of various trainings and workshops  Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	3135	
				Drietine of the DCMAA			
				Printing of the BSWM SOILSCAPE NEWSLETTER 2025	LOT		
				(Printing and Layout Design)			
				January-June (1st Sem)		500	
				July-December (2nd Sem)		500	
INFO	2025- 01-	REGULA R	9	Paper size: 18 in by 12 in folded			
	0101			Paper Specs: C2S#120			
				Cover: Matte/Laminated C2S #120			
				Color: Full color all pages			
				Binding :Saddle Stitch			
				Pages: 20 pages including front and back cover			

<b>ENDUS</b>	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
ER		SOURCE	No.			-	
				Process: Offset Printing, Color Separation			
				Layout Design (Final e-copy)		2	
				BFS Brochures:			
				Teknolohiya ng     Vermicomposting	pcs	1,200	
				2. Vermiculture	pcs	1,200	
				3. Soil Test Kit	pcs	1,200	
				4. Mga hakbang sa Pagkuha ng Lupang Ipasusuri	pcs	1,200	
				5. Abonong SWAK	pcs	1,200	
WRMD	2025- 01- 0102	RICE ESETS	10	Specification: Brochures #1-4: Size: (spread size) 8.5" x 11" (folded size) 8.5" x 3.67" No. of pages: 2 sides print Paper Stock: C2S 180 lbs. Color: 4 x 4 Binding: Loose; 2 folds; 3 panels			
				Specification: Brochures #5: Size: (spread size) 8.5" x 17" (folded size) 8.5" x 4.25" No. of pages: 2 sides print Paper Stock: C2S 180 lbs. Color: 4 x 4 Binding: Loose; 2 folds; 3 panels			
				BLST/TST Booklet:	pcs	1,110	
			11	Specification: Size: (spread size) 8.5" x 17" (folded size) 8.5" x 5.5" No. of pages: 36 pages Paper Stock: C2S 140 lbs. Color: 4 x 4 Binding: Stapled			
				DDINTING DINDING AND			
	2025-	TRUST-	12	PRINTING, BINDING AND PUBLICATION	n	100	
	01- 0193	AFACI- PAN	12	AFACI-BSWM-FFTC EXPERT SYMPOSIUM AND WORKSHOP	pcs.	100	

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
				SIZE: A4 LEAVES: up to 150 PAGES: up to 300 pages (back- to-back)			
				Hardbound			
				Full Colors on all pages			
				Embossed Cover Title/Page			
				Glossy Paper			
				BINDING: Smyth Sewn			
				WTK Color Charts			
				a. Color text guides, full color sides			
			4.2	b. 10.5"x7", 2 fold, 3 panels		5000	
			13	c. 2 sides plastic lamination	pcs		
				d. Paper type: C2S 300gsm			
				e. Lay-out ready			
				WTK Brochure			
	2025-			a. Color text guides, full color sides			
	01- 0194	NSHP	14	b. 10.5"x7", 2 fold, 3 panels	pcs	5000	
				c. 2 sides plastic lamination			
				d. Paper type: C2S 300gsm			
				e. Lay-out ready			
				STK CHARTS			
				a. Color text guides, full color sides			
			15	b. 7"x7", 1 fold, 2 panels	pcs	5000	
				c. 2 sides plastic lamination			
				d. Paper type: C2S 300 gsm			

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
EK		SOURCE	NO.				
				STK BOOKLET			
				a. Stock book: 60 gsm, Folcote: 12	-		
				b. Color/sides: 1 color both sides	-		
			16	c. Cover: Full color, Inside pages: black and white			
			10	d. Size: width: 4.25", height: 5.5"			
				e. Pages: about 60 pages (excluding cover)	pcs	5000	
				f. Cover: Lamination 1-side plastic lamination			
				g. Binding: saddle stitch			
				For sample lay-out, Coordinate with End-user			
				Proof prints for proof reading is required prior to final printing			
INFO	2025- 01-	REGULA R		IEC Material - Brochure			
	0195	IX.		Title: BSWM Agency Profile			
			17	Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	

ENDUS	PR#	FUND		DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
ER		SOURCE	No.				
			18	Title: Sustainable Land Management  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	pc	1000	
			19	IEC Material - Brochure  Title: Mga Hakbang sa Pagkuha ng Lupang Ipasusuri  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	
			20	IEC Material - Brochure  Title: Paraan ng Pagkuha ng Ipasusuring Tubig Pang Irigasyon  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
			21	IEC Material - Brochure  Title: Soil Test Kit (Tagalog)  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	
			22	IEC Material - Brochure  Title: How to Collect Soil Sample for Analysis  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	
			23	IEC Material - Brochure  Title: ALMED SAFDZ CLUP  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
			24	IEC Material - Brochure  Title: Soil Test Kit (English)  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	
			25	IEC Material - Brochure  Title: Composting Facility for Biodegradable Wastes  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	
			26	IEC Material - Brochure  Title: Teknolohiya ng Vermicomposting  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	

<b>ENDUS</b>	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
ER		SOURCE	No.	2200 11011	J. 1. 1	α	Sitt Emeliti of Commenter
			27	IEC Material - Brochure  Title: The FAQs on the Implementation of the DA Memorandum Circular 26 s. 2022  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	
	2025- 01- 0200	NSHP	28	Customized Notebook Specifications: Soft bind notebook No. of leaves: 40 leaaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM Logo) Notebook paper quality: 70 gsm Dimension: 148 mm x 200 mm	pcs.	3,200	

#### LOT 3: SUPPLY AND DELIVERY OF CROPPING PATTERN CALENDAR FOR FY 2025

ENDUSER	PR#	FUND	Item	DESCRIPTION		671	CTATELACK - 0. 00
		SOURCE	No.		UNIT	QTY	STATEMENT OF COMPLIANCE
WRMD	2025-	RICE-	1	BSWM Cropping Pattern and	pcs	935	
	01-	ESETS		Calendar (CPC)			
	103			Tool Kit *			
				Part A: CPC Disc - 1-unit			
				assembly			
				Materials: Acrylic sheet (clear			
				color)			
				Dimension: 27.5cm diameter			
				circle			
				Printing: Laser color print of			
				front &back visuals in vinyl			
				sticker paper.			
				Printed vinyl sticker paper must			
				be inserted or sandwiched			
				between two acrylic sheet (to			
				avoid erasure of print).			
				Thickness: 4mm (combination of two acrylic sheets)			
				two acrylic sneets)			
				Part B: CPC Pie - 3-unit			
				assembly (for 1st & 2nd			
				cropping and fallow/crop			
				diversification)			
				Materials: Acrylic sheet (clear			
				color)			
				Dimension: 11.2cm x 11.2cm;			
				angular: 130 degree (for 1st &			
				2nd cropping)			
				& 70 degree (for fallow/crop			
				diversification)			
				Printing: Laser color print of			
				front visuals in vinyl sticker			
				paper.			
				Printed vinyl sticker paper must			
				be inserted or sandwiched			
				between two acrylic sheet (to			
				avoid erasure of print).			
				Thickness: 4mm (combination of			
				two acrylic sheets)			
				- Provision of pivot pin and lock			
				to secure the circular movement			
				of three (3) CPC Pies on top of			
				the CPC Disc.			
				Dravisian of analogues to a			
				- Provision of enclosure (e.g.,			
				sleeve, box, or envelope) for the			

ENDUSER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
		JUDITOL		CPC Tool Kit for safe keeping.			
				Notes:			
				* see attached sample drawing			
				- Printed vinyl sticker paper			
				must be water resistant.			
				- 935 pcs of BSWM CPC Tool Kit location templates and			
				drawings			
				will be provided by the end-			
				user.			

ENDUSER	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
		SOURCE	No.			7.	
			2	BSWM Cropping Pattern and			
				Calendar (CPC)			
				Tool Kit *			
				Part A: CPC Disc - 1-unit			
				assembly			
				Materials: Acrylic sheet (clear			
				color)			
				Dimension: 27.5cm diameter			
				circle			
				Printing: Laser color print of			
				front &back visuals in vinyl			
				sticker paper.			
				Printed vinyl sticker paper must			
				be inserted or sandwiched			
				between two acrylic sheet (to			
				avoid erasure of print).			
				Thickness: 4mm (combination of two acrylic sheets)			
				two acrylic sheets)			
				Part B: CPC Pie - 3-unit			
				assembly (for 1st & 2nd			
		INS-		cropping and fallow/crop			
		VARIOU		diversification)	ncc	50	
		S		Materials: Acrylic sheet (clear	pcs	30	
				color)			
				Dimension: 11.2cm x 11.2cm;			
				angular: 130 degree (for 1st &			
				2nd cropping) & 70 degree (for fallow/crop			
				diversification)			
				Printing: Laser color print of			
				front visuals in vinyl sticker			
				paper.			
				Printed vinyl sticker paper must			
				be inserted or sandwiched			
				between two acrylic sheet (to			
				avoid erasure of print).			
				Thickness: 4mm (combination of			
				two acrylic sheets)			
				Drovision of nivet nin and letter			
ı				- Provision of pivot pin and lock to secure the circular movement			
				of three (3) CPC Pies on top of			
				the CPC Disc.			
				- Provision of enclosure (e.g.,			
				sleeve, box, or envelope) for the			
				jaceve, box, or envelope, for the			

ENDUSER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	STATEMENT OF COMPLIANCE
		SOURCE	No.	CPC Tool Kit for safe keeping.  Notes: * see attached sample drawing - Printed vinyl sticker paper must be water resistant 50 pcs of BSWM CPC Tool Kit location templates and drawings will be provided by the end- user.			

	Supply an			arious Promotional Items				
ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
PLAN	2025- 01- 0120	GAD FUND	1	Promotional Items in Celebration of National Women's Month  Specifications: POLO-SHIRT Color: Purple " with various color based on the design attached (LOGO)" Fabrics: 60% Cotton 40% Polyester Feature: wrinkle and shrink resistant, 2 button placket, flat knit collar and cuffed sleeved, double needle stitch Sizes: Assorted sizes Print Type: Silk Screen Printing XS - 45 S - 101 M - 202 L - 180 XL - 105 2XL - 50 3XL - 13	pcs.	700	800.00	560,000.00
				"IMPORTANT NOTE:  * Design shall be finalized upon the release of PCW				
			2	Promotional Items for 18-Day Campaign to End Violence Against Women and Children (VAWC)	pcs.	700	500.00	350,000.00
				Specifications: T-SHIRT (Round Neck) Color: Orange and White " with various color based on the design attached (LOGO)" Fabrics: 100 % Cotton Sizes: Assorted sizes Print Type: Silk Screen Printing				
				"IMPORTANT NOTE:  * Design shall be finalized upon the release of PCW				
HILLPE Z	2025- 01- 0129	RD- REGUL AR	3	Polycanvas Bag Size: (LxWxH) 14"x4"x17" Color: White 1 Side Print Print: Full Sublimation	pcs.	85	210.00	17,850.00

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
			4	Dry Fit Polo Shirt Sizes: XS-10; S-10 pcs; M-30 pcs; L-25 pcs; XL-10 pcs Material: Dry fit	pcs.	85	700.00	59,500.00
				Delivery Requirement: BSWM Central Office, Diliman, Quezon City, 1st week of February 2025				
		RD- ORGAN IC - HILLPE Z	5	Personalized longsleeve Color: Light/Sky Blue or based on the design layout Material: Compatible with the printing method Printing method: Full Sublimation Sizes: XS-5 pc; S-10 pc, M-15 pc; L-15 pc; XL-10 pc; 2XL-5 pc	pcs.	60	800.00	48,000.00
			6	Personalized field hat with detachable neck and face cover Color: Emerald Green Material: Nylon Imprint method: Embroidery Size: 55-62 cm head circumference	pcs.	60	500.00	30,000.00
				Delivery Requirement: BSWM Central Office, Diliman, Quezon City, 1st week of April 2025				
		NSHP- VEGET ABLE - HILLPE Z	7	Personalized tote bag (with expandable katsa, box type, with velcro/magic tape) Color: White Material: Canvas Printing method: Sublimation Size: 34*43*10 cm	pcs.	100	250.00	25,000.00

PR#	SOURCE	8 8	Personalized shirt Color: Teal/Based on the layout Material: Compatible with the printing method Printing method: Full Sublimation Sizes: XS-10; S-15 pcs; M-30 pcs; L-30 pcs; XL-10 pcs; 2XL-5	pcs.	100	700.00	<b>TOTAL</b> 70,000.00
			Color: Teal/Based on the layout Material: Compatible with the printing method Printing method: Full Sublimation Sizes: XS-10; S-15 pcs; M-30 pcs;	pcs.	100	700.00	70,000.00
		0					
		9	Personalized field hat with detachable neck and face cover Color: Navy blue Material: Nylon Imprint method: Embroidery Size: 55-62 cm head circumference	pcs.	100	400.00	40,000.00
			Delivery Requirement: BSWM Central Office, Diliman, Quezon City,				
2025- 01- 0131	NSHP	10	Field Jacket Color: Dark Gray Materials: woven with fabrics, waterproof, windproof, hooded non removable, UV protection, quick drying, ultra light Printing Method: Heatpress Place of Delivery: NSWRRDC- Dalwangan, Malaybalay Bukidnon	pcs.	80	800.00	64,000.00
2025- 01- 0133	R 2025	11	Polo Shirt Body -premuim polydex, 180 gsm Collar-Cotton; Quality Sew and Printed: Sublimation	pcs.	90	860.00	77,400.00
2025- 01- 0132	CORN	12	Jacket Embroidered logos and other prints Material: Polyester Sleeve Lenth: Long Sleeves Jacket Type: Baseball Jackets Style: Athletic, Street Style Sizes S - 15 M - 31 L - 32 XL - 15 please see attached design	pcs.	93	1,600.00	148,800.00
010				Material: Polyester Sleeve Lenth: Long Sleeves Jacket Type: Baseball Jackets Style: Athletic, Street Style Sizes S - 15 M - 31 L - 32 XL - 15	Material: Polyester Sleeve Lenth: Long Sleeves Jacket Type: Baseball Jackets Style: Athletic, Street Style Sizes S - 15 M - 31 L - 32 XL - 15	Material: Polyester Sleeve Lenth: Long Sleeves Jacket Type: Baseball Jackets Style: Athletic, Street Style Sizes S - 15 M - 31 L - 32 XL - 15	Material: Polyester Sleeve Lenth: Long Sleeves Jacket Type: Baseball Jackets Style: Athletic, Street Style Sizes S - 15 M - 31 L - 32 XL - 15

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
3LN		RD- REGUL AR	13	Tote Bag  Size: length-16 inch; width: 13.5 inch Color: Black Printing: Embroidered logo of BSWM Fabric: Canvass	pcs.	150	200.00	30,000.00
			14	Drifit Shirt Sage Green (near this shade - HEX Code: (#8ABD91); Sublimation Printing of logos and other prints  Sizes: Small - 10 Medium - 20 Large - 25 XL - 25 XXL - 20	pcs.	100	400.00	40,000.00
		MANIL A BAY	15	Drifit Shirt Sublimation Printing of logos and other prints *color: Gray/ shade 400 (0xFFBDBDBD) Sizes: S-5 M-10 L-80 XL-20 XXL-5	pcs.	120	400.00	48,000.00
			16	Drifit Polo Shirt Sublimation Printing of logos and other prints *color: Khaki (C3B091*) Pique fabric  Sizes: S-10 M-30 L-100 XL-35 XXL-5	pcs.	180	600.00	108,000.00
			17	Tote Bag  Size: length-16 inch; width: 13.5 inch Color: Black Printing: Embroidered logo of BSWM and other logo Fabric: Canvass	pcs.	35	200.00	7,000.00

ENDU	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
SER		SOURCE	<b>No.</b> 18	Drifit Shirt Sublimation Printing of logos and	pcs.	150	400.00	60,000.00
				other prints color: white				
				Sizes S-10 M-10 L-80				
				XL-40 XXL-10				
			19	Bush hat with embroidered BSWM Logo color: khaki	pcs.	150	500.00	75,000.00
			20	Insulated Tumbler stainless steel internal compartment, 24 oz, black. with silicon boot, paracord handle, and manila bay decal logo white tumbler	pcs.	35	1,000.00	35,000.00
LSD	2025-01-130	NSHP	21	Full Sublimation ABFS Long Sleeve Drifit Shirts Specifications: -Long sleeve -Round binder neck front -Polydex, 220 gsm -Fully sublimated, all colours and logos are dyed directly into the fabric to ensure durability and flexibility  Small - 1000 pcs Medium - 1500 pcs Large - 1500 pcs XL - 1000 pcs 2XL - 750 pcs 3XL - 750 pcs 4XL - 750 pcs	pcs.	8,000	600.00	4,800,000.00
WRM	2025-	RICE-	22	BOT Meeting for National SWISA	pcs.	50	750.00	37,500.00
D	01- 0127	ESSETS		Federation Polo shirt Polyester (100%) short sleeve with buttons multi color blue and white * BSWM Logo and SWISA logo: Printed embroidered "XXL-2 XL-5 L-20 M-20 S-3"				

ENDU SER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
				(see attached design for reference)				
			23	Institutional Development Training For The Operation And Maintenance Of Small-Scale Irrigation Projects (SSIPs)-ESETs Polo shirt cotton fabric short sleeve with buttons multi color blue and white * BSWM Logo and SWISA logo: Printed screen print "XXL-74 XL-111 L-370 M-370 S-185 (see attached design for reference)	pcs.	1,110	500.00	555,000.00
			24	Training on Soil Health Rehabilitation/ Balanced Fertilization Strategy polo shirt cotton fabric short sleeve multi color blue and white "XXL-80 XL-120 L-400 M-400 S-200" * BSWM Logo and SWISA logo: Printed screen print	pcs.	1,200	500.00	600,000.00
			25	Regional and Provincial SWISA Meeting & Location Specific Cropping Pattern and Cropping Tool Canvas Tote Bag with BWM Logo Material: Canvas Textile Texture: Thick quality Dimension: 15 X 13 X 3 inch (H x W x L) With Zipper	pcs.	600	300.00	180,000.00

0,000.00
0,000.00
2,000.00
-,555.00

ENDU	55 "	FUND	Item	DESCRIPTION		OTV	A A A O L INIT	TOTAL
SER	PR#	SOURCE	No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
				White and brown combination (see attached design)  With embroidered logo at the upper left chest				
				30 pcs Small - 19 inches x 27 inches (+/- 0.5" on length and width tolerance) 60 pcs Medium - 20 inches x 28 inches (+/- 0.5" on length and width tolerance) 50 pcs Large - 21 inches x 29 inches (+/- 0.5" on length and width tolerance) 20 pcs XL - 22 inches x 30 inches (+/- 0.5" on length and width tolerance) 10 pcs XXL - 23 inches x 31 inches (+/- 0.5" on length and width tolerance)				
SWRR D	2025- 02-0292	SWRRD - Regular	29	T-Shirt for BSWM 74th Sportsfest Materials: Dri-fit, polyester; it is constructed blend of synthetic fiber Features: Wrinkle and shrink resistant; don't wick sweat anti- odor and anti-microbial Sleeve style: Short sleeve Sizes: XS, S, M, L, XL, 2XL Color: White, Yellow Orange, Green, Pink, Blue, Purple Attached: Design/Layout	pcs	650	500.00	325,000.00

### **LOT 2: SUPPLY AND DELIVERY OF VARIOUS TRAINING MATERIALS**

<b>ENDUS</b>	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
ER		SOURCE	No.					
SCMD	2025- 01- 0132	ESETS RICE - SCMD Watersh ed Manage ment	1	Notebook (customized)  Clear Plastic Hard Cover Spring Ring Bind Notebook A5 size, 80 leaves, 70gsm, waterproof cover, with printed pages	pcs.	150	200.00	30,000.00
GSITD	2025- 01- 0125	ICT-STO- CURREN T	2	Customized Notebook softbound notebook No. of leaves: minimum of 40 Notebook cover: Cardboard, Glossy, White color with BSWM Logo Notebook paper quality: 70 gsm dimension: 148mm x 200mm	pcs.	155	100.00	15,500.00

ENDUS	PR#	FUND		DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
ER		SOURCE	<b>No.</b> 3	Customized Training Bag with BSWM Logo Size: at least15.6 inches that can carry long-size training and workshop modules and other training materials Length: at least 32 cm Width: at least 16 cm Height: at least 48 cm Color: gray/black Material: 200D Nylon	pcs.	140	785.00	109,900.00
			4	Customize ID Lace Material: polyester Length: 32 inches Width: 3/4 inches	pcs.	140	100.00	14,000.00
		INS VARIOUS	5	Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	705	100.00	70,500.00
WRMD	2025- 01- 0123	RICE- ESSETS	6	Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	3505	100.00	350,500.00
		PSS-RICE	7	Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	400	100.00	40,000.00

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
WRMD	2025- 01- 0124	LFP- SWIIP	8	Procurement of Training Supplies (Customized Notebooks) for the conduct of various trainings and workshops  Customized Notebook Softbound notebook No. of leaves: 40 leaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM logo) Notebook paper quality: 70 gsm Dimension: 148mm x 200mm	pcs.	3135	100.00	313,500.00
				Printing of the BSWM				
				SOILSCAPE NEWSLETTER 2025	LOT			
				(Printing and Layout Design)				
				January-June (1st Sem)		500	78.00	39,000.00
				July-December (2nd Sem)		500	78.00	39,000.00
		REGULA R		Paper size: 18 in by 12 in folded				
				Paper Specs: C2S#120				
INFO	2025- 01- 0101		9	Cover: Matte/Laminated C2S #120				
				Color: Full color all pages				
				Binding :Saddle Stitch				
				Pages: 20 pages including front and back cover				
				Process: Offset Printing, Color Separation				
				Layout Design (Final e-copy)		2	5,000.00	10,000.00
	2025			BFS Brochures:				
WRMD	2025- 01- 0102	RICE ESETS	10	Teknolohiya ng     Vermicomposting	pcs	1,200	45.00	54,000.00
				2. Vermiculture	pcs	1,200	45.00	54,000.00

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
				3. Soil Test Kit	pcs	1,200	45.00	54,000.00
				4. Mga hakbang sa Pagkuha ng Lupang Ipasusuri	pcs	1,200	45.00	54,000.00
				5. Abonong SWAK	pcs	1,200	45.00	54,000.00
				Specification: Brochures #1-4: Size: (spread size) 8.5" x 11" (folded size) 8.5" x 3.67" No. of pages: 2 sides print Paper Stock: C2S 180 lbs. Color: 4 x 4 Binding: Loose; 2 folds; 3 panels				
				Specification: Brochures #5: Size: (spread size) 8.5" x 17" (folded size) 8.5" x 4.25" No. of pages: 2 sides print Paper Stock: C2S 180 lbs. Color: 4 x 4 Binding: Loose; 2 folds; 3 panels				
				BLST/TST Booklet:	pcs	1,110	120.00	133,200.00
			11	Specification: Size: (spread size) 8.5" x 17" (folded size) 8.5" x 5.5" No. of pages: 36 pages Paper Stock: C2S 140 lbs. Color: 4 x 4 Binding: Stapled				
	01-	TRUST- AFACI- PAN	12	PRINTING, BINDING AND PUBLICATION  AFACI-BSWM-FFTC EXPERT SYMPOSIUM AND WORKSHOP  SIZE: A4 LEAVES: up to 150 PAGES: up to 300 pages (back-to-back)  Hardbound  Full Colors on all pages  Embossed Cover Title/Page  Glossy Paper		100	5,000.00	500,000.00
				BINDING: Smyth Sewn				
LSD		NSHP	13	WTK Color Charts	pcs	5000	50.00	250,000.00
	1			THE COLOT CHARGE	P 55		50.00	

ENDUS ER	PR#	FUND SOURCE		DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
	2025- 01-			a. Color text guides, full color sides				
	0194			b. 10.5"x7", 2 fold, 3 panels	-			
				c. 2 sides plastic lamination	-			
				d. Paper type: C2S 300gsm				
				e. Lay-out ready				
				WTK Brochure				
				a. Color text guides, full color sides	-			
			14	b. 10.5"x7", 2 fold, 3 panels	pcs	5000	50.00	250,000.00
				c. 2 sides plastic lamination	. 600	3000	30.00	250,000.00
				d. Paper type: C2S 300gsm	=			
				e. Lay-out ready				
				STK CHARTS	-			
				a. Color text guides, full color sides				
			15	b. 7"x7", 1 fold, 2 panels	pcs	5000	50.00	250,000.00
				c. 2 sides plastic lamination				
				d. Paper type: C2S 300 gsm				
				STK BOOKLET				
				a. Stock book: 60 gsm, Folcote: 12	-			
				b. Color/sides: 1 color both sides				
			16	c. Cover: Full color, Inside pages: black and white	pcs	5000	50.00	250,000.00
				d. Size: width: 4.25", height: 5.5"				
				e. Pages: about 60 pages (excluding cover)				

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
				f. Cover: Lamination 1-side plastic lamination				
				g. Binding: saddle stitch				
				For sample lay-out, Coordinate with End-user				
				Proof prints for proof reading is required prior to final printing				
INFO	2025	DECLUA		IFC Material Breakure				
INFO	2025- 01-	REGULA R		IEC Material - Brochure				
	0195			Title: BSWM Agency Profile				
			17	Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
				IEC Material - Brochure				
				Title: Sustainable Land Management				
			18	Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
				IEC Material - Brochure				
				Title: Mga Hakbang sa Pagkuha ng Lupang Ipasusuri				
			19	Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing	рс	1000	₱26.00	26,000.00

<b>ENDUS</b>	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
ER		SOURCE	No.					
				Bindery: Loose				
			20	IEC Material - Brochure  Title: Paraan ng Pagkuha ng Ipasusuring Tubig Pang Irigasyon  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
			21	IEC Material - Brochure  Title: Soil Test Kit (Tagalog)  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	<b>₽</b> 26.00	26,000.00

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
			22	IEC Material - Brochure  Title: How to Collect Soil Sample for Analysis  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
			23	IEC Material - Brochure  Title: ALMED SAFDZ CLUP  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
			24	IEC Material - Brochure  Title: Soil Test Kit (English)  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
			25	IEC Material - Brochure  Title: Composting Facility for Biodegradable Wastes  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing	рс	1000	₱26.00	26,000.00

ENDUS ER	PR#	FUND SOURCE	Item No.	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
				Bindery: Loose				
			26	IEC Material - Brochure  Title: Teknolohiya ng Vermicomposting  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
			27	IEC Material - Brochure  Title: The FAQs on the Implementation of the DA Memorandum Circular 26 s. 2022  Specifications: Size: 8.5 x 11 inches (spread), 8.5 x 3.67 inches (Tri folded) Color: full color Pages: 2 side print Material: C2S 180 Process: Computer-to-plate, Offset printing Bindery: Loose	рс	1000	₱26.00	26,000.00
LSD	2025- 01- 0200	NSHP	28	Customized Notebook Specifications: Soft bind notebook No. of leaves: 40 leaaves minimum Notebook Cover: Cardboard (Glossy; color white with design and BSWM Logo) Notebook paper quality: 70 gsm	pcs.	3,200	100.00	320,000.00

<b>ENDUS</b>	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
ER		SOURCE	No.					
				Dimension: 148 mm x 200				
				mm				

## LOT 3: SUPPLY AND DELIVERY OF CROPPING PATTERN CALENDAR FOR FY 2025

ENDUSER	PR#	FUND	Item	DESCRIPTION			AMOUN	
		SOURCE	No.		UNIT	QTY	Т	TOTAL
WRMD	2025-	RICE-	1	BSWM Cropping Pattern and	pcs	935	1,500.00	1,402,500.00
	01-	ESETS		Calendar (CPC)				. ,
	103			Tool Kit *				
				Part A: CPC Disc - 1-unit				
				assembly				
				Materials: Acrylic sheet (clear				
				color)				
				Dimension: 27.5cm diameter				
				circle				
				Printing: Laser color print of				
				front &back visuals in vinyl				
				sticker paper.				
				Printed vinyl sticker paper must				
				be inserted or sandwiched				
				between two acrylic sheet (to				
				avoid erasure of print).				
				Thickness: 4mm (combination of				
				two acrylic sheets)				
				Part B: CPC Pie - 3-unit				
				assembly (for 1st & 2nd				
				cropping and fallow/crop				
				diversification)				
				Materials: Acrylic sheet (clear				
				color)				
				Dimension: 11.2cm x 11.2cm;				
				angular: 130 degree (for 1st &				
				2nd cropping)				
				& 70 degree (for fallow/crop				
				diversification)				
				Printing: Laser color print of				
				front visuals in vinyl sticker				
				paper.				
				Printed vinyl sticker paper must				
				be inserted or sandwiched				
				between two acrylic sheet (to				
				avoid erasure of print).				
				Thickness: 4mm (combination of				
				two acrylic sheets)				
				- Provision of pivot pin and lock				
				to secure the circular movement				
				of three (3) CPC Pies on top of				
				the CPC Disc.				
				- Provision of enclosure (e.g.,				

ENDUSER	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUN	TOTAL
		SOURCE	No.	CDC To al Wit for only location			T	
				CPC Tool Kit for safe keeping.				
				Notes:				
				* see attached sample drawing				
				- Printed vinyl sticker paper				
				must be water resistant.				
				- 935 pcs of BSWM CPC Tool Kit				
				location templates and				
				drawings will be provided by the end-				
				user.				
				<b></b>				

ENDUSER	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUN	TOTAL
		SOURCE				,	Т	
			2	BSWM Cropping Pattern and				
				Calendar (CPC)				
				Tool Kit *				
				Part A: CPC Disc - 1-unit				
				assembly				
				Materials: Acrylic sheet (clear				
				color)				
				Dimension: 27.5cm diameter				
				circle				
				Printing: Laser color print of				
				front &back visuals in vinyl				
				sticker paper.				
				Printed vinyl sticker paper must				
				be inserted or sandwiched				
				between two acrylic sheet (to				
				avoid erasure of print). Thickness: 4mm (combination of				
				two acrylic sheets)				
				two acrylic streets)				
				Part B: CPC Pie - 3-unit				
				assembly (for 1st & 2nd				
		INS-		cropping and fallow/crop				
		VARIOU		diversification)	ncc	50	1,500.00	75,000.00
		S		Materials: Acrylic sheet (clear	pcs	30	1,300.00	73,000.00
				color)				
				Dimension: 11.2cm x 11.2cm;				
				angular: 130 degree (for 1st &				
				2nd cropping)				
				& 70 degree (for fallow/crop diversification)				
				Printing: Laser color print of				
				front visuals in vinyl sticker				
				paper.				
				Printed vinyl sticker paper must				
				be inserted or sandwiched				
				between two acrylic sheet (to				
				avoid erasure of print).				
				Thickness: 4mm (combination of				
				two acrylic sheets)				
				- Provision of pivot pin and lock				
				to secure the circular movement				
				of three (3) CPC Pies on top of				
				the CPC Disc.				
				- Provision of enclosure (e.g.,				
				sleeve, box, or envelope) for the				
				', '				

ENDUSER	PR#	FUND	Item	DESCRIPTION	UNIT	QTY	AMOUN	TOTAL
		SOURCE	No.		Olviii	Q11	Т	TOTAL
		SOURCE	No.	CPC Tool Kit for safe keeping.  Notes:  * see attached sample drawing - Printed vinyl sticker paper must be water resistant 50 pcs of BSWM CPC Tool Kit location templates and drawings will be provided by the end- user.			T	
						GRAND	TOTAL	1,477,500.00

## **ANNEX B**

# **BSWM Bid Securing Declaration Form**

[ shall be submitted with the Bid if bidder opts to provide this form of Bid Security]

REPUBLIC OF THE PHILIPP	INES)
CITY OF	S.S

#### BID SECURING DECLARATION

#### Project Identification No.: [Insert number]

To: [Insert name and address of the Procuring Entity]

I/We, the undersigned, declare that:

- I/We understand that, according to your conditions, bids must be supported by a Bid Security, which may be in the form of a Bid Securing Declaration.
- I/We shall furnish the required performance security within ten (10) calendar days in/ Case of receipt of Notice of Award (pursuant to GPPB Circular No. 04-2020 and GPPB Resolution No. 16-2020).
- 3. I/We accept that: (a) I/we will be automatically disqualified from bidding for any procurement contract with any procuring entity for a period of two (2) years upon receipt of your Blacklisting Order; and, (b) I/we will pay the applicable fine provided under Section 6 of the Guidelines on the Use of Bid Securing Declaration, within fifteen (15) days from receipt of the written demand by the procuring entity for the commission of acts resulting to the enforcement of the bid securing declaration under Sections 23.1(b), 34.2, 40.1 and 69.1, except 69.1(f), of the IRR of RA No. 9184; without prejudice to other legal action the government may undertake.
- 4. I/We understand that this Bid Securing Declaration shall cease to be valid on the following circumstances:
- a. Upon expiration of the bid validity period, or any extension thereof pursuant to your request:
- b. I am/we are declared ineligible or post-disqualified upon receipt of your notice to such effect, and (i) I/we failed to timely file a request for reconsideration or (ii) I/we filed a waiver to avail of said right; and
- c. I am/we are declared the bidder with the Lowest Calculated Responsive Bid, and I/we have furnished the performance security and signed the Contract.

IN WITNESS WHEREOF, I/We have hereunto set my/our hand/s this \_\_\_\_\_\_day
of [month] [year] at [place of execution].

[Insert NAME OF BIDDER OR ITS AUTHORIZED
REPRESENTATIVE]
[Insert signatory's legal capacity]
Affiant

[Jurat]

[Format shall be based on the latest Rules on Notarial Practice]

## ANNEX C

## **Omnibus Sworn Statement (Revised)**

[shall be submitted with the Bid]

REPUBLIC OF THE PHILIPPINES )	
CITY/MUNICIPALITY OF ) S.S.	

#### **AFFIDAVIT**

- I, [Name of Affiant], of legal age, [Civil Status], [Nationality], and residing at [Address of Affiant], after having been duly sworn in accordance with law, do hereby depose and state that:
- 1. [Select one, delete the other:]

[If a sole proprietorship:] I am the sole proprietor or authorized representative of [Name of Bidder] with office address at [address of Bidder];

[If a partnership, corporation, cooperative, or joint venture:] I am the duly authorized and designated representative of [Name of Bidder] with office address at [address of Bidder];

0. [Select one, delete the other:]

[If a sole proprietorship:] As the owner and sole proprietor, or authorized representative of [Name of Bidder], I have full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached duly notarized Special Power of Attorney;

[If a partnership, corporation, cooperative, or joint venture:] I am granted full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached [state title of attached document showing proof of authorization (e.g., duly notarized Secretary's Certificate, Board/Partnership Resolution, or Special Power of Attorney, whichever is applicable;)];

- 0. [Name of Bidder] is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board, by itself or by relation, membership, association, affiliation, or controlling interest with another blacklisted person or entity as defined and provided for in the Uniform Guidelines on Blacklisting;
- 0. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct;
- 0. [Name of Bidder] is authorizing the Head of the Procuring Entity or its duly authorized representative(s) to verify all the documents submitted;
- 0. [Select one, delete the rest:]

[If a sole proprietorship:] The owner or sole proprietor is not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a partnership or cooperative:] None of the officers and members of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a corporation or joint venture:] None of the officers, directors, and controlling stockholders of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

- 0. [Name of Bidder] complies with existing labor laws and standards; and
  - 0. [Name of Bidder] is aware of and has undertaken the responsibilities as a Bidder in compliance with the Philippine Bidding Documents, which includes:
  - . Carefully examining all of the Bidding Documents;
  - . Acknowledging all conditions, local or otherwise, affecting the implementation of the Contract;
  - . Making an estimate of the facilities available and needed for the contract to be bid, if any; and
  - . Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].
    - 0. [Name of Bidder] did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.
- O. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN WITNESS WHEREOF, I have hereunto set my hand this \_\_\_ day of \_\_\_\_, 20\_\_ at \_\_\_\_\_\_Philippines.

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE]
[Insert signatory's legal capacity]
Affiant

[Jurat]

[Format shall be based on the latest Rules on Notarial Practice]